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Indian Geography Practice Assignment 01
DIRECTIONS for questions 1-40: Mark the best option:

1.

Which of the following companies is associated
with the exploration and commercial production of
oil in Barmer-Sanchore basin of Rajasthan ?

A) Reliance Energy B) ONGC

C) Cairn Energy D) Indian Qil Corporation
2.  What is the percentage of India's population to the
World population ?
A) 26 per cent B) 17.5 per cent
C) 6 per cent D) 36 per cent
3. The famous Lagoon lake of India is :
A) Dal Lake B) Chilka Lake
C) Pulicat Lake D) Mansarover
4. Which of the following pairs are correctly matched?

Waterfalls River

Kapildhara Godavari

. Jog Falls Sharavati
.

Sivasamundram Cauvery
A)land1l B)landlll C)Illandlll D), Il and Il
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5.

Which among the following statements is incorrect
regarding laterite soils?

A) They are formed under conditions of high
temperature and heavy rainfall with alternate wet
and dry periods

B) They are rich in bauxite or ferric oxides

C) They are fertile and suitable for growing
plantation crops like tea, coffee, rubber

D) They are found on the summits of Western
Ghats and Eastern Ghats

Pruning is an essential part in cultivation of :
A) Rubber B) Tobacco
C) Coffee D) Tea

The maximum area under crops in India is used for
the cultivation of :

A) Wheat B) Rice

C) Sugarcane D) Cotton
Sambhar Salt Lake is situated in :

A) Himachal Pradesh  B) Karnataka
C) Madhya Pradesh D) Rajasthan




hitbullseye

9.

10.

11.

12.

Match the dams and the rivers across which those
have been constructed.

Dam River

(a) Gandhi |. Bhagirathi

Sagar

(b) Jayakwadi II. Krishna

© Nagarjuna [ll. Godavari

(d) Tehri IV. Chambal

A) a-1V,b-lll,c- 11,d-I B) a-lll, b-l, c- IV ,d- I
C) a-ll, b-1V,c-lll,d-I D) a-IV,b-Il,c-I,d-11I

Clove, the commonly-used spice, is obtained from
the

A) Fruit B) Stem  C) Root D) Flower bud

Which amongst the following States/UT has not
identified tribal community ?

A) Chhattisgarh B) Haryana
C) Maharashtra D) Karnataka

Consider the following:

. These forests are the most wide spread forests of

India.
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Il. These regions experience seasonal changes.

[lIl. Hardwood trees such as sal, teak, neem and
shisham are found in this region.

The above given characteristic features belong to
A) Tropical Evergreen Forests
B) Tropical Deciduous Forests
C) Temperate Evergreen Forests
D) Temperate Deciduous Forests
13.  Which is the largest tiger reserve in India ?
A) Nagarjuna B) Manas
C) Pench D) Corbett

14. Which amongst the following States does not
cultivate wheat?

A) Karnataka B) Maharashtra
C) West Bengal D) Tamil Nadu
15. Which State in India is the leading producer of
Sulphur?
A) Assam B) Maharashtra

C) Punjab D) Tamil Nadu
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16.

17.

18.

19.

20.

Which from the following towns is not on the
"Golden Quadrilateral” being created for the roads-
infrastructure of the country?

A) Ajmer B) Ahmedabad
C) Jabalpur D) Gaya

Which of the following cities to the western-most
longitude ?

A) Jaipur B) Nagpur C) Bhopal D) Hyderabad
Arrange the following rivers from South to North.

|. Cauvery II. Krishna

[ll. Godavari IV. Mahanadrl
A) LI, IV B) L, IV, 1, 1l
C) I, 1V, 111 D) LII, LIV

Which part of India is linked to the border by the
Hindustan-Tibet road ?

A) Shimla B) Garhwal
C) North Bengal D) Kashmir Valley

Which State of India has the largest reserves of
monazite, with a high thorium content ?

A) Kerala B) Karnataka
C) Guijarat D) Maharashtra
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21.

22.

23.

24,

The Indian Wild Ass (Ghor-Khur) is found in
A) Sunderbans B) Assam forests
C) TheRann of Kuchh D) Kaveri delta

What are the benefits of temperate cyclones from
the Mediterranean sea to India?

A) It causes rainfall in Punjab and Haryana
B) It is highly beneficial for kharif crops

C) It causes torrential rainfall in Central parts of
India and northern parts of southern Peninsula

D) Both (a) and (b)

Where are the Eucalyptus trees found in
abundance ?

A) Mizo Hills B) Naga Hills
C) Manipur Hills D) Nilgiri Hills
Farakka Barrage was commissioned to
A) save Kolkata port

B) link North and South Bengal

C) supply drinking water to Kolkata

D) divert water to Bangladesh
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25.

26.

27.

28.

29.

Where is Integral Coach Factory situated ?
A) Perambur B) Chittaranjan
C) Mumbai D) Kolkata

Which of the following States has the largest
concentration of tea plantation in India ?

A) Assam B) Bihar

C) Meghalaya D) Arunachal Pradesh
Where is Salar Jung Museum situated?

A) Hyderabad B) Jaipur

C) Lucknow D) Mumbai

The longest river of Peninsular India is :

A) Narmada B) Godavari

C) Mahanadi D) Cauvery

Which from the following territories does NOT have
a border with Mizoram ?

A) Nagaland B) Myanmar
C) Assam D) Tripura
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30.

31.

32.

33.

Match the Dams and the States in which they are
situated :

Dam State

(a) Tungabhadra l. Kerala

(b) Lower Bhawani [l. Andhra Pradesh
(c) Idukki [1l. Tamil Nadu

(d) Nagarjuna Sagar  |V. Karnataka
A) a-ll,b-1l,c-1V,d-1IV B) a-II,b-1V,c-lll,d-I
C) a-IV,b-lll,c-I,d-1l D) a-,b-1V,c-Il,d-1lI

Which from the following rivers does NOT originate
in Indian territory?

A) Godavari B) Jhelum
C) Ravi D) Ghagra

Generally, the soil of the northern plains of India
has been formed by

A) degradation B) aggradation
C) weathering in situ D) erosion

Which one of the following is the highest gravity
dam in the world ?

A) Beas Dam B) Nangal Dam
C) Bhakra Dam D) Hirakud Dam
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34.

35.

36.

37.

38.

Which of the following cities/towns lies to the
northern-most latitude ?

A) Patna B) Allahabad
C) Pachmarhi D) Ahmedabad

Which of the following will never get the vertical
rays of the sun?

A) Mumbai B) Chennai
C) Thiruvanthapuram D) Srinagar

Of the following, the town which does not come
within the National Capital Region is ?

A) Panipat B) Rohtak

C) Khurja D) Mathura

Which river of India is called Vridha Ganga?
A) Krishna B) Godavari

C) Kaveri D) Narmada

The Andaman group and Nicobar group of islands
are separated from each other by

A) Ten Degree Channel B) Great Channel
C) Bay of Bengal D) Andaman Sea
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39. Which one of the following states does not form
part of Narmada River basin?

A) Madhya Pradesh  B) Rajasthan
C) Gujarat D) Maharashtra
40. Diuis anisland off
A) Daman B) Goa C) Gujarat D) Maharashtra

10
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Answer Key
Q. No. Key Q. No. Key
1. C 21. C
2. B 22. A
3. B 23. D
4. C 24. A
5. C 25. A
6. D 26. A
7. B 27. A
8. D 28. B
9. A 29. A
10. D 30. C
11. B 31. D
12. B 32. B
13. A 33. C
14. D 34. A
15. B 35. D
16. D 36. D
17. A 37. B
18. D 38. A
19. A 39. B
20. A 40. C
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